Bellwork Alg2  Monday, April 8, 2019

1. Find the value of x in each triangle to the nearest hundredth.
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a. Find a coterminal angle between 0 and 2z. Give your answer in radians as a fraction, in terms of r,

and in reduced form.

b. Tell in which quadrant or on which axis the terminal side lies.

In an Italian class, 65 percent of the students were women. At the end of the class 52 percent of the men
and 44 percent of the women received a certificate.
3. What percentage of the class received a certificate?

4. What percentage of those who received a certificate were men?
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a. Find a coterminal angle between 0 and 2z. Give your answer in radians as a fraction, in terms of r,
and in reduced form. :
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b. Tell in which quadrant or on which axis the terminal side lies.
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In an Italian class, 65 percent of the students were women. At the end of the class 52 percent of the men
and 44 percent of the women received a certificate.

3. What percentage of the class received a certificate?
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4. What percentage of those who received a certificate were men?

L’\(o%V. qu olots received «a Cac/v-v[r6qfé /&,2% WeA . man

5.2 N BT
Xwo = V3. /, oL cerhfcete
46-& & Carnery e
e




